run_13067008 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Wed Mar 7 03:59:26 2012

[ADC for FGT RDO=1,ARM=0,APV=0 }

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=1 }

ADC-ped

o
5}

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=1LARM=0,APV=2 }

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=3 }

ADC-ped

o
=)

1000

2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=0,APV=4 l

-
°
[
Q
ja}
<
10°
10
0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=0_}

o 4000 p—
2 =
o =

g 3500 fm— v e e e e .|
i =

3000 fm— v e e e e .|
=

2500 fm— - s s s n s .
=

2000 s e e e e .
=

1500 fm— v v e e e man et o

I -
=
=

5 |==ocozas00050a .
=
=

0 o= ;. 4

= i R ; : : i
0 20 20 - i i i
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=1 "}
= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=2 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
d =
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=3 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=4 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

w4 .. .4 mo.d L0 e

107

10

10

10

10°




run_13067008 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Wed Mar 7 04:01:40 2012

[ADC MPV for RDO=1ARM=0,APV=0__}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

-500

APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

APV channel




run_13067008 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
Wed Mar 7 04:02:15 2012

[ADC RMS for RDO=1,ARM=0,APV=0_ J

RMS (ADC-ped)

120 [
100 C
80 |2
60 :
40 |

20 |

[

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=1 "}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=2 "}

RMS (ADC-ped)

i
120

APV channel

[CADC RMS for RDO=1,ARM=0,APV=3__}

RMS (ADC-ped)

120

100

80

60

40

20

-r|-|-r1-|-|-|-r|-|-r1-|

°'H'I‘]'I'H'|'

i i i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=4 "}

RMS (ADC-ped)

140

120 |

100

80 f—

60 [ g
40
20 :
e I N T R T |

0 20 20 60 80 100 120

APV channel




run_13067008 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Wed Mar 7 03:59:30 2012

[ADC for FGT RDO=1,ARM=0,APV=5 }

k=1
@
5
8}
a)
<
10*
10
[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=6 }

ADC-ped

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=1LARM=0,APV=7 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=8 }

ADC-ped

o
=)

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=0,APV=9 l

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0 ==
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—- - -
< =
3000 f=—- - -
=
2500 f=— - - -
=
2000 f=—-- -
=
1500 f=——- - -
1000 p=——- - -
=
500 f=— - -
=
oE—-
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=8 }
- 4000 p—
5] = . . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=9 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

m.....4 . J4 e i1 ..l Wl

10

10

10

10°

10




run_13067008 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Wed Mar 7 04:01:41 2012

[ADC MPV for RDO=1ARM=0,APV=5__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13067008 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
Wed Mar 7 04:02:16 2012

[CADC RMS for RDO=1,ARM=0,APV=5__}

RMS (ADC-ped)

10
120
100
80 [
60 [r
40

20

APV channel

RMS (ADC-ped)

140 [
120 f—
100 _
80 |
60 [

40

20 |-

APV channel

RMS (ADC-ped)

180
160 f—
140 _
120
100
80 f—

60 f—

40

20

. . i
0 20 40 60 80 100 120

APV channel

[CADC RMS for RDO=1,ARM=0,APV=8__}

RMS (ADC-ped)

160 f—
=
140 f—

= _
120 f—

=

=
100 f—=

=

—
80 f—
60 f—
w Bl
=
0%

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=9 "}

RMS (ADC-ped)

180

160

140

120

100

80

60

40

20

°'I'I'I]1II|I PRI IIIIHT|‘I‘I'I]

0

APV channel




run_13067008 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB
Wed Mar 7 03:59:34 2012

[ ADC for FGT RDO=1,ARM=0.APV=12 | [ ADC for FGT RDO=1,ARM=0,APV=12 |
P = 4000 p—
] 3 =
2 3 = 10
%) =
Q Q 3500 f=
< < =
10 3000 f—
=
2500 = -
= 1
2000 f—
=
10 1500 f=— 1
1000 = -
= el
= 10
500 f—
=
=
0
=
1000 2000 3000 4000 0
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=0,APV=13 | [ ADC for FGT RDO=1,ARM=0,APV=13 "}
L - 4000 p— - - - - - -
4 g = 10
(8] Q —
9 9 3500 f=
< < =
3000 f/—
10 =
2500 fm—
= 1
2000 fm=—
=
1500 f=—
10 =
=
1000 p=——
= 10"
500 f=——
=
=
E_. . . i . . . i . . . i . . . i . . . i . . . i .
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1LARM=0,APV=14 } I ADC for FGT RDO=1,ARM=0,APV=14 l
- . 4000 p=
3 2 E . . . . . .
2 2 = 2 2 2 2 2 2 10
Q Q — -
9 g 3500 =
< < =
3000 f=—|- - -
10 =
2500 p=—r|- - -
=
2000 f=——|- - - i
=
1500 f=—|- - -
10 =
1000 p=——|- - -
=
500 f=—|- - - 10"
=
0f=—t--
=
1000 2000 3000 4000
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=0,APV=15 | [ ADC for FGT RDO=1,ARM=0,APV=15 |
- 4000 p—
] = . . .
5 = . 10
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=— :
=
1500 f=——
1000 f=——
= 1
500 fm— 10
=
0=
: =
il =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=0.APV=16 [ ADC for FGT RDO=1,ARM=0,APV=16 }
- 4000 p—=
3 = . . . . . .
= =
Q 3500 =
2 =
3000 = 10
2500 =
=
2000 =
=
1500 f=— 1
=
1000 =
=
500 f=
=
= 10"
= . . i . . . i . . . i . . . i . . . i . . . i .
0

3000 40(
raw ADC APV channel




run_13067008 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Wed Mar 7 04:01:42 2012

[ADC MPV for RDO=1ARM=0,APV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=16 }

MPV (ADC-ped)

APV channel
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